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use Socket;

$fname=$ARGV[O0]; #

print "$fname ¥n";

#

if ( 'socket(SOCKET,PF_INET,SOCK_STREAM,0) ){
die(" D $¥n™);

}

# connect

#$host = "133.243.59.13"; # ryuu

$host = "133.243.59.115"; # vlbi5

fcserver._pl

fromkas1l.pl

fromkas11.pl
(vssp2)



$iaddr = inet_aton($host);

$addr = sockaddr_in(5000,$iaddr); ## [c_kogll.pl

5000->5001

if ( Tconnect(SOCKET,$addr) ){
die(""connect D $¥n™);
}
#$buf = "tds.data";
$buf=$fname;
it ( 'send(SOCKET,$buf,0) ){
die("'send D $¥n™);
}
open(FO,">".$buf);
$nbytes=0;
while(1){
$hispaddr=recv(SOCKET,$ibuf,1024,0);
$length=length($ibuf);
if($length <= 0){
close(F0);
print "$nbytes received. File copy end¥n";
last;

¥

print FO $ibuf;
$nbytes=$nbytes+$length;

}
close(SOCKET);

[fromkas11.pl |

use Socket;

#

if ( 'socket(SOCKET,PF_INET,SOCK_STREAM,0) ){
die(" : $1¥n");

}

# bind

$addr = sockaddr_in(5000, INADDR_ANY);  ## \fromkogll.pl

5000->5001

it ( 'bind(SOCKET,$addr) ){

die(*'bind o $1¥n');
}
# listen
if ( !listen(SOCKET,SOMAXCONN) ){
die("listen D $¥n™);
}
while(1){
# accept



if ( 1($client_addr = accept(CLIENT,SOCKET)) ){

die(""accept D $¥n™);
}
print "connected¥n";
#
iT ( 'socket(SOCKET2,PF_INET,SOCK_STREAM,0) ){
die(" : $1¥n");
}
if ( !setsockopt(SOCKET2,SOL_SOCKET,SO_REUSEADDR,pack(*'1",1)) ){
print " o $l¥n";
}
# connect

Shost = "192.168.102.14"; # KSP-KASHIMA site
$iaddr2 = inet_aton($host);

$addr2 = sockaddr_in(5000,$iaddr2); ## [fromkogll.pl 5000->5001
# connect
if ( Tconnect(SOCKET2,$addr2) ){
die(""connect D $¥n™);
}

print "connected to 192.168.102.14¥n";

$hispaddr=recv(CLIENT,$buf,80,0);
print "$buf¥n";
it ( !'send(SOCKET2,$buf,0) ){
die("'send D $¥n™);
}
$nbytes=0;
while(1){
$his2=recv(SOCKET2,$ibuf,1024,0);
$length=length($ibuf);
if($length <= 0){
print "$nbytes received and sent¥n";
last;
}
if ( 'send(CLIENT,$ibuf,0) ){
die("send D $¥n™);
}
$nbytes=$nbytes+$length;
}

close(CLIENT);
close(SOCKET2)

}
close(SOCKET);



[tokog11.pl \

use Socket;

#

if ( 'socket(SOCKET,PF_INET,SOCK_STREAM,0) ){
die(" : $1¥n");

}

# bind

$addr = sockaddr_in(5001, INADDR_ANY);

if ( 'bind(SOCKET,$addr) ){
die(*'bind o $1¥n');

}

# listen

if ( !listen(SOCKET,SOMAXCONN) ){
die("listen D $¥n™);

}

while(1){
# accept
if ( 1($client_addr = accept(CLIENT,SOCKET)) ){
die(""accept D $¥n™);
}

print "connected¥n";

#
if ( !socket(SOCKET2,PF_INET,SOCK_STREAM,0) ){
die(" : $1¥n");
}
if ( !Isetsockopt(SOCKET2,SOL_SOCKET,SO_REUSEADDR,pack(*'1",1)) ){
print " T $¥n';
}
# connect
Shost = "192.168.101.14"; # KSP-KOGANEI site
$iaddr2 = inet_aton($host);
$addr2 = sockaddr_in(5000,$iaddr2);
# connect
if ( Tconnect(SOCKET2,$addr2) ){
die(""connect D $¥n™);

}
print "connected to 192.168.101.14¥n";

$hispaddr=recv(CLIENT,$buf,80,0);
print "$buf¥n";
it ( !'send(SOCKET2,$buf,0) ){
die("'send D $¥n™);
}
$nbytes=0;
while(1){



$his2=recv(SOCKET2,$ibuf,1024,0);
$length=length($ibuf);
if($length <= 0){

print "$nbytes received and sent¥n";

last;
}
if ( 'send(CLIENT,$ibuf,0) ){
die("'send D $¥n™);
}
$nbytes=$nbytes+$length;
}
close(CLIENT);
close(SOCKET2)
}
close(SOCKET);
[fcserver.pl |
use Socket;
#
#
if ( 'socket(SOCKET,PF_INET,SOCK_STREAM,0) ){
die(" : $1¥n");
}
# bind

$addr = sockaddr_in(5000, INADDR_ANY);
if ( 'bind(SOCKET,$addr) ){

die("bind o $1¥n');
}
# listen
it ( !listen(SOCKET,SOMAXCONN) ){
die("listen D $¥n™);
}
while(1){
# accept
if ( 1($client_addr = accept(CLIENT,SOCKET)) ){
die(""accept D $¥n™);
}

$hispaddr=recv(CLIENT,$buf,80,0);

print "$buf will be opened for COPY ¥n";
open(FH, $buf);

SRECSIZE=1024;

$recno=0;

$nbytes=0;



while(1){
$recread=read(FH,$record, $RECSIZE);
if ($recread <= 0) {

close(FH);
print "$nbytes bytes sent¥n";
last;
}
if ( 'send(CLIENT,$record,0) ) {
die("send D $¥n™);
}
Snbytes=$nbytes+$recread;
}
close(CLIENT);
}
close(SOCKET);



